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                     



- - - - - - - - - - - - -




        
- - - - - - - - - - - - -

 
            

- - - - - - - - - - - - -

                
     

- - - - - - - - - - - - -
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S.

A.

T1.

T2.

B1.

B2.





                    

- - - - - - - - - - - - -

      

    


     

3

  

3

 
3

  
 

- - - - - - - - - - - - -




       
   

  
     

- - - - - - - - - - - - -







            
- - - - - - - - - - - - -

 
       

               

- - - - - - - - - - - - -

     
         

         


- - - - - - - - - - - - -
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S.

A.

T1.

T2.

B1.

B2.





              

men.



- - - - - - - - - -

       

3

      
men.


- - - - - - - -


3 3





  

             

           

men.




- - - - - - - - - - - -




   

men.


- - - - - - - -




 
    


           

men.- - - - - - - - - - -



   

 

Source: Eton College Library Ms. 178 ( “The Eton Choirbook”), ff. c1-c3.
Note-values in the source are halved in this edition.  Written pitch has been retained.
Small accidentals are editorial, while those in brackets are purely cautionary.
All other directions in square brackets are editorial.

This publication is intended as a performing edition and hence ligatures, coloration and detailed editorial information are
not included.

The grieving Mother stood weeping beside the cross where her Son was hanging.
Through her weeping soul, compassionate and grieving, a sword passed.
O how sad and afflicted was that blessed Mother of the only-begotten,
who mourned and grieved, seeing and bearing the torment of her glorious child.
Who is it that would not weep, seeing Christ’s Mother in such agony?
Who could not feel compassion on beholding the Holy Mother suffering with her Son? 
O Mother, fountain of love, make me feel the power of sorrow, that I may grieve with you.
Grant that my heart may burn in the love of Christ my God, that I may greatly please Him.
The Mother stood, a red rose, weeping beside the cross, seeing Him bear a criminal’s fate who was guilty of no crime.
And as she stood, full of heart, grieving beside her son, the people cried, “Crucify, crucify!”
O how grievous was your pain, Virgin full of sorrows, when you recalled former joys now turned to sadness.
There was no colour in you, Mother, when your Son stood detained, yet content at Satan’s overthrow.
Hence, best-beloved Lady, beseech your Son, who takes away all the sins we have committed, with sweet prayer,
that, wiping away our faults, He might plant grace in us, and fulfil this promise in our eternal rest.  Amen.

             

men.




- - - - - - - - - -
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